

TO VALIDATE, GO TO Certificate Number : GI-COO-56994-67b7be6a4ac45 VERIFY.FTGS.US Date : February 20, 2025

	VEIMI I.I I	00.00 Pute	February 20, 2025		
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA	Destination Country China		X / / L/ / / X88/K / K / /	Destination Port TianjinXingang	
Consignee	Export Date 2025-02-15	Export Date 2025-02-15		Exporting Carrier N/A	
INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone,	Import Permit Number N/A		Bill of Lading 4015100524	Bill of Lading / AWB 401510052473	
Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Agent	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China		Remarks Total: 1,221bales Total: 521.017mt			
Description (May include notes on Quantity, Item Number, Marks and Number	s. Kind of Package	s.)	Weight	Country of Origin	
Alfalfa Hay			22.498mt	United States	
Marks: EGHU9612817 52bales Alfalfa Hay Marks: EGHU9142842 52bales			22.235mt	United States	
Alfalfa Hay Marks: EGHU9439743 51bales		22.625mt	United States		
Alfalfa Hay Marks: FFAU1568132 52bales			20.602mt	United States	
Alfalfa Hay Marks: EMCU8380898 52bales			20.92mt	United States	
Alfalfa Hay Marks: EGSU1252430 52bales			21.818mt	United States	
Alfalfa Hay Marks: EGSU9740540 52bales			22.29mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods origit applicable in the country(les) to the The information in this certificate accurate, true and complete. The Applicant undertakes to advisi Certificate (or to whom the Certific of any inaccuracy, omission or cha The Applicant will maintain, and pit truth, accuracy and completeness -In consideration for the GIC's issue 	inate in the country(ies) specifi ose goods. and in any documents provide e GIC and any other person(s) ate is provided to with the knc nge in such information, or in resent upon request, such doc of this certificate and accomp ance of this Certificate, the Ap onnection with the issuance c made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-56994-67b7be6a4ac45 VERIFY.FTGS.US Date : February 20, 2025

	VEIMI I.I I	00.00	February 20, 2025		
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel			Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA	Destination Country China			Destination Port TianjinXingang	
Consignee	Export Date 2025-02-15	Export Date 2025-02-15		Exporting Carrier N/A	
INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone,	Import Permi N/A	Import Permit Number N/A		Bill of Lading / AWB 401510052473	
Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding A N/A	Forwarding Agent N/A	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China		Remarks Total: 1,221bales Total: 521.017mt			
Description (May include notes on Quantity, Item Number, Marks and Number	s Kind of Package	5)	Weight	Country of Origin	
Alfalfa Hay	o, Kind of Fuokage		21.083mt	United States	
Marks: GAOU7297268 48bales					
Alfalfa Hay			21.201mt	United States	
Marks: EGSU9656383 50bales					
Alfalfa Hay Marks: EGSU9661081 52bales		21.981mt	United States		
Alfalfa Hay Marks: EGSU9209940 50bales		20.258mt	United States		
Alfalfa Hay Marks: GCXU6545187 52bales			22.344mt	United States	
Alfalfa Hay Marks: EMCU8657133 52bales			22.126mt	United States	
Alfalfa Hay Marks: EMCU1793626 49bales			21.201mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods origin applicable in the country(ies) to tho The information in this certificate a accurate, true and complete. The Applicant undertakes to advise Certificate (or to whom the Certifica of any inaccuracy, omission or char The Applicant will maintain, and pri truth, accuracy and completeness of -In consideration for the GIC's issue 	ate in the country(ies) speci- se goods. and in any documents provide c GIC and any other person(s) ate is provided to with the knc uge in such information, or in esent upon request, such doc f this certificate and accomp nce of this Certificate, the Ap ponnection with the issuance c made against GIC in connect	sumentation as is necessary to verify the anying documents. applicant agrees to release, discharge and hold of this certificate and to indemnify GIC in ion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-56994-67b7be6a4ac45 **VERIFY.FTGS.US** Date: February 20, 2025

	VEIIII I.I I	00.00	· February 20, 2023		
Seller (Exporter) Healthy Green Life Corporation	Transport Tyj Vessel	Transport Type Vessel		Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA	Destination Country China		X / / / / / / / / X / X / / X / / .	Destination Port TianjinXingang	
Consignee	Export Date 2025-02-15		Exporting Ca N/A	Exporting Carrier N/A	
INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone,	Import Permit Number N/A		Bill of Ladin 401510052	Bill of Lading / AWB 401510052473	
Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding / N/A	Agent	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1,221bales Total: 521.017mt				
Description	e Kind of Dookogo		Weight	Country of Origin	
(May include notes on Quantity, Item Number, Marks and Number Alfalfa Hay	s, kind of Package	:s.)	22.807mt	United States	
Marks: EGSU9642245 52bales					
Alfalfa Hay			21.02mt	United States	
Marks: TGBU4444225 49bales					
Alfalfa Hay Marks: EGSU9493537 52bales		22.68mt	United States		
Alfalfa Hay Marks: GCXU6541807 49bales			21.31mt	United States	
Alfalfa Hay Marks: EMCU1641990 49bales			21.346mt	United States	
Alfalfa Hay Marks: EMCU8946389 51bales			22.362mt	United States	
Alfalfa Hay Marks: BSIU8397442 50bales			21.156mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods originapplicable in the country(ies) to the The information in this certificate accurate, true and complete. The Applicant undertakes to advision or chaina the Applicant undertakes to advision or chaina. The Applicant will maintain, and primartian and completeness of the applicant of the GIC's issues to the consideration for the GIC's issues the applicant will be applied by the second seco	nate in the country(ies) speci se goods. and in any documents provid e GIC and any other person(s ate is provided to with the kn rge in such information, or in esent upon request, such do of this certificate and accom nuce of this Certificate, the A connection with the issuance made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.	



TO VALIDATE, GO TO Certificate Number : GI-COO-56994-67b7be6a4ac45 VERIFY.FTGS.US Date : February 20, 2025

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel Destination Country China			Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA				Destination Port TianjinXingang Exporting Carrier N/A		
Consignee	Export Date 2025-02-15	Export Date 2025-02-15				
INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone,	Import Permi N/A	Import Permit Number N/A		Bill of Lading / AWB 401510052473		
Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Owner or Age N/A	ent	Forwarding / N/A	Agent		
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Remarks Total: 1,221 Total: 521.0					
Description (May include notes on Quantity, Item Number, Marks and Number	rs. Kind of Package	25.)	Weight	Country of Origin		
Alfalfa Hay			22.054mt	United States		
Marks: HPCU4855118 52bales			00.000			
Alfalfa Hay Marks: EGHU8486036 49bales			20.838mt	United States		
Alfalfa Hay			22.262mt	United States		
Marks: TIIU5464462 52bales						
=====end of products======						
Name of Authorized Trade Association		 The above-mentioned goods origitaplicable in the country(ies) to the "The information in this certificate accurate, true and complete. The Applicant undertakes to advisit Certificate (or to whom the Certificate (or to whom the Certificate (or to whom the Certificate), accuracy, omission or chait and "The Applicant will maintain, and putruth, accuracy and completeness" - In consideration for the GIC's issues to the Certification of the GIC's issues the completeness of the consideration for the GIC's issues the completeness of the completeness of the completeness of the consideration for the GIC's issues the completeness of the compl	inate in the country(ies) speci- ose goods. and in any documents provid- e GIC and any other person(s ate is provided to with the kn nge in such information, or in ersent upon request, such do of this certificate and accom ance of this Certificate, the A onnection with the issuance made against GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hold of this certificate and to indemnify GIC in tion herewith.		

Booking Document - HayCloud.com

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI	AL INVOICE		Invoice No.	SD-202502013	
			Date:	3/15/25	
Shipper/Exporter:					
Healthy Green Life (Corp	INNER MONGOLIA SHENGDEHETAI TRADING CO., LTD			
1152 S Roughcut Di		Room 302,3rd Floor,Jinchuan S&T			
Casa Grande, AZ 85	194, USA	Park, Jin'er Road, Chilechuan			
		Dairy Dev.Zone,Tuzu			
		Banner,Hohhot,Inner	Mongolia		
Vessel:	EVER MAST	Contract No.:	SDHT-HGLC2025-1		
Voyage No.:	1386-004W	Booking No.:	Booking No.: 401510052473		
Shipping Line:	Evergreen	Country of Origin: USA			
Port of Loading:	LOS ANGELES, CA	Discharge:	TianjinXingang, China		
ETD:	2/15/25	ETA:	3/15/25		
Price Terms:	CIF				

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BSIU8397442	A1528455	Alfalfa Supremi	50	21.156	\$395.00	\$8,356.62
EGHU8486036	A1528451	Alfalfa Supremi	49	20.838	\$395.00	\$8,231.01
EGHU9142842	B1471731	Alfalfa Supremi	52	22.235	\$395.00	\$8,782.82
EGHU9439743	A1528900	Alfalfa Supremi	51	22.625	\$395.00	\$8,936.88
EGHU9612817	A1528891	Alfalfa Supremi	52	22.498	\$395.00	\$8,886.71
EGSU1252430	722286	Alfalfa Supremi	52	21.818	\$395.00	\$8,618.11
EGSU9209940	UL5464028	Alfalfa Supremi	50	20.258	\$395.00	\$8,001.91
EGSU9493537	A1528356	Alfalfa Supremi	52	22.680	\$395.00	\$8,958.60
EGSU9642245	A1528359	Alfalfa Supremi	52	22.807	\$395.00	\$9,008.76
EGSU9656383	A1528417	Alfalfa Supremi	50	21.201	\$395.00	\$8,374.40
EGSU9661081	A1528415	Alfalfa Supremi	52	21.981	\$395.00	\$8,682.50
EGSU9740540	A1528892	Alfalfa Supremi	52	22.290	\$395.00	\$8,804.55
EMCU1641990	A1528352	Alfalfa Supremi	49	21.346	\$395.00	\$8,431.67
EMCU1793626	A1528462	Alfalfa Supremi	49	21.201	\$395.00	\$8,374.40
EMCU8380898	722285	Alfalfa Supremi	52	20.920	\$395.00	\$8,263.40
EMCU8657133	A1528464	Alfalfa Supremi	52	22.126	\$395.00	\$8,739.77
EMCU8946389	A1528351	Alfalfa Supremi	51	22.362	\$395.00	\$8,832.99
FFAU1568132	UL5464029	Alfalfa Supremi	52	20.602	\$395.00	\$8,137.79
GAOU7297268	A1528419	Alfalfa Supremi	48	21.083	\$395.00	\$8,327.78
GCXU6541807	A1528353	Alfalfa Supremi	49	21.310	\$395.00	\$8,417.45
GCXU6545187	A1528465	Alfalfa Supremi	52	22.344	\$395.00	\$8,825.88
HPCU4855118	A1528453	Alfalfa Supremi	52	22.054	\$395.00	\$8,711.33
TGBU4444225	A1528358	Alfalfa Supremi	49	21.020	\$395.00	\$8,302.90
TIIU5464462	A1528452	Alfalfa Supremi	52	22.262	\$395.00	\$8,793.49
Total Value:	•	•	1,221	521.017		\$205,801.72

A porate R						
05/31/1979	(Commodity	Crude Protein	Moisture	RFV	ASH
A Collifornia Mail		Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12
ALL STATES						

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



